

About us

Alexandria Agricultural Company was established in 1985 with the aim to supply high quality raw milk to other companies. In 2012, we started manufacturing our own milk, Lamar. Our main goal remains to deliver products of excellent quality that are nationally and internationally appreciated.

The secret of Lamar's success is having a self-sufficient and independent farm, where all the manufacturing steps take place. As our motto suggests, our milk comes "Straight from the farm to the pack". The farm sits on 3,350 acres, where we raise over 3,000 cows, grow their food including corn and fodder, and plant fruits such as red and white grapes, apricots, and pomegranates.

Lamar provides full cream, half skimmed and skimmed milk, all of which are 100% natural without any additives. Additionally, we produce flavored milk that is fortified with vitamins A & D. The flavored milk comes in four different flavors: Chocolate, Strawberry, Banana and Cookies & Cream. Lamar has recently introduced its new plant-based, dairy-free range named TOM (The Other Milk). The first launch of the range consists of three kinds: Almond Milk, Oat Milk, and Barista Oat.

In addition to the milk, Lamar produces diverse juices, drinks, and even cooking creams. Our juices are 100% natural and available in 9 different flavors. Lamar additionally provides a line of tasty drinks available in 7 different flavors. Essential to wholesome meals are our Cooking and Whipping creams available in different sizes.

Lamar's international presence is remarkable as it is the first and only Egyptian company that exports juice to Japan. Moreover, Lamar's global presence stretches over four continents.

Our mission remains the same: To make consumption of food products healthier and more enjoyable by providing top quality products through an integrated supply chain.





LAMAR Milk

Ever since Lamar established itself in the market, it has focused its efforts to deliver premium quality milk that is 100% natural and free of preservatives, coming straight from our farm. Lamar's milk is full of nutrients that are vital for a healthy body. Lamar provides its

4 consumers with Full Cream, Semi-Skimmed, and Skimmed Milk.



WITHOUT PALLET

WITH PALLET

40'	20'	40'	20'
DC LOAD PER CARTON	DC LOAD PER CARTON	DC LOAD PER CARTON	DC LOAD PER CARTON
2200 CARTONS	1850 CARTONS	2160 CARTONS (6 layers x 18 carton) = 108 carton x 20 pallets	1080 CARTONS (13 layers x 19 carton) = 108 carton x 10 pallets



WITHOUT PALLET

40' DC LOAD PER CARTON 20' DC LOAD PER CARTON

4000 CARTONS

3150 CARTONS



WITHOUT PALLET		WITH PALLET	
40' DC LOAD PER CARTON	20' DC LOAD PER CARTON	40' DC LOAD PER CARTON	20' DC LOAD PER CARTON
4300 CARTONS	3888 CARTONS	4940 CARTONS (13 layers x 19 carton) = 247 carton x 20 pallets	2470 CARTONS (13 layers x 19 carton) = 247 carton x 10 pallets

DAIRY ALTERNATIVE





LAMAR Tom

8

TOM, The Other Milk, is a new alternative milk brand by Lamar. The first launch of the range consists of three plant-based and dairy-free milks: Almond Milk, Oat Milk, and Barista Oat. TOM fulfills the needs of vegans and those who suffer from lactose intolerance. Our Other Milk range is low in fat, an excellent source of vitamins and calcium, and rich in fiber, providing consumers with an essential addition to a healthy lifestyle.

LAMAR Almond Milk

Lamar offers Almond Milk for our lactose-intolerant and vegan consumers. Our Almond milk is naturally low in calories, free cholesterol, free of saturated fats, and fortified with calcium and vitamins A & D.

LAMAR TOM Almond Milk

SIZE 1 Liter **TYPE** Dairy Alternatives PACK PER CARTON 12 Packs



BENEFITS

With almond flavor to enrich the taste Unsweetened Vegan and dairy free Naturally low in fat Excellent source of vitamins and calcium Naturally lactose free Low in calories

WITHOUT PALLET

40'	20'
LOAD PER CARTON	DC LOAD PER CARTON
2200 CARTONS	1850 CARTONS
WITH PALLET	
40'	20'
LOAD PER CARTON	DC LOAD PER CARTON
2160 CARTONS	1080 CARTONS
ayers x 18 carton)	(6 layers x 18 carton)
= 108 carton x 20 pallets	= 108 carton x 10 pallets

LAMAR TOM Oat Milk

SIZE 1 Liter TYPE Dairy Alternatives PACK PER CARTON 12 Packs



BENEFITS

- Rich in Fiber
- No added Sugars
- Vegan and dairy free
- Naturally low in fat
- Excellent source of vitamins and calcium
- Naturally lactose free

WITHOUT PALLET

40' DC LOAD PER CARTON	20' DC LOAD PER CARTON
2200 CARTONS	1850 CARTONS
WITH PALLET	
40' DC LOAD PER CARTON	20' DC LOAD PER CARTON
2160 CARTONS	1080 CARTONS
(6 layers x 18 carton) = 108 carton x 20 pallets	(6 layers x 18 carton) = 108 carton x 10 pallets

LAMAR TOM Barista Oat Milk

SIZE 1 Liter

BENEFITS

- Foamable
- No Added Sugars
- Vegan and dairy free
- Naturally low in Saturated fat
- Excellent source of vitamins and calcium
- Naturally lactose free
- Perfect for Baristas
- Rich in Pea Protein

WITHOUT PALLET

40'	20'
DC LOAD PER CARTON	DC LOAD PER CARTON
2200 CARTONS	1850 CARTONS
WITH PALLET	
40'	20'
DC LOAD PER CARTON	DC LOAD PER CARTON
2160 CARTONS	1080 CARTONS
(6 layers x 18 carton)	(6 layers x 18 carton)
= 108 carton x 20 pallets	= 108 carton x 10 pallets

TYPE Dairy Alternatives PACK PER CARTON 12 Packs



LAMAR Almond Milk

SIZE 1 Liter TYPE Dairy Alternatives PACK PER CARTON 12 Packs



WITHOUT PALLET

40'	20'
DC LOAD PER CARTON	DC LOAD PER CARTON
2200 CARTONS	1850 CARTONS
WITH PALLET	
40'	20'
DC LOAD PER CARTON	DC LOAD PER CARTON
2160 CARTONS	1080 CARTONS
(6 layers x 18 carton)	(6 layers x 18 carton)
= 108 carton x 20 pallets	= 108 carton x 10 pallets

JUICE 100%





LAMAR 100% Juice

Lamar produces a unique line of juices that consists of nine different mouthwatering natural fruits: Pineapple, Apple, Pomegranate, Red Grapes, Tomato, Mango juice blend, Cranberry juice blend, Guava, and Orange. All juices are 100% natural with no added sugar, colors, or preservatives.



WITHOUT PALLET		WITH PALLET	WITH PALLET	
40' DC LOAD PER CARTON	20' DC LOAD PER CARTON	40' DC LOAD PER CARTON	20' DC LOAD PER CARTON	
2200 CARTONS	1850 CARTONS	1980 CARTONS (5.5 layers x 18 carton) = 99 carton x 20 pallets	1260 CARTONS (7 layers x 18 carton) = 126 carton x 10 pallets	

LAMAR 100% Natural Juice



TYPE 100% Juice PACK PER CARTON 27 Packs





WITHOUT PALLET		WITH PALLET	
40' DC LOAD PER CARTON	20' DC LOAD PER CARTON	40' DC LOAD PER CARTON	20' DC LOAD PER CARTON
4300 CARTONS	3888 CARTONS	4940 CARTONS (13 layers x 19 carton) = 247 carton x 20 pallets	2470 CARTONS (13 layers x 19 carton) = 247 carton x 10 pallets





LAMAR Drink

To give consumers a fruitful experience, Lamar provides a line of drinks that encompasses diverse flavors, with no added colors. This line consists of seven flavors: Cocktail, Orange, Plum, Mango, Guava,

16 Apple, and Lemon-Mint.



40'	20'	40'	20'
DC LOAD PER CARTON	DC LOAD PER CARTON	DC LOAD PER CARTON	DC LOAD PER CARTON
2200 CARTONS	1850 CARTONS	2160 CARTONS (6 layers x 18 carton) = 108 carton x 20 pallets	1260 CARTONS (6 layers x 18 carton) = 108 carton x 10 pallets



WITHOUT PALLET		WITH PALLET	WITH PALLET	
40' DC LOAD PER CARTON	20' DC LOAD PER CARTON	40' DC LOAD PER CARTON	20' DC LOAD PER CARTON	
4300 CARTONS	3888 CARTONS	4940 CARTONS	2470 CARTONS	
3		(13 layers x 19 carton) = 247 carton x 20 pallets	(13 layers x 19 carton) = 247 carton x 10 pallets	

FLAVORED MILK



LAMAR Flavored Milk

Lamar's flavored milk comes in four different flavors: Chocolate, Strawberry, Banana, and Cookies & Cream. The milk is 100% pure with no added colors or preservatives. The range is fortified with vitamins A & D, making our flavored milk the perfect nutritious snack.

LAMAR Flavored Milk

20



TYPE Flavored Milk PACK PER CARTON 27 Packs



WITHOUT PALLET		WITH PALLET	WITH PALLET	
40' DC LOAD PER CARTON	20' DC LOAD PER CARTON	40' DC LOAD PER CARTON	20' DC LOAD PER CARTON	
4300 CARTONS	3888 CARTONS	4940 CARTONS (13 layers x 19 carton) = 247 carton x 20 pallets	2470 CARTONS (13 layers x 19 carton) = 247 carton x 10 pallets	

LAMAR	SIZE	TYPE
Flavored Milk	1 Liter	Flavored Milk

PACK PER CARTON 12 Packs



WITHOUT PALLET

20' DC LOAD PER CARTON
1850 CARTONS
20' DC LOAD PER CARTON
1080 CARTONS (6 layers x 18 carton) = 108 carton x 10 pallets

COOKING AND WHIPPING CREAM



LAMAR Cooking and Whipping Cream

Lamar's Cooking and Whipping Creams are essential for wholesome meals and tasty des-

22 serts. The Cooking Cream consists of 30% fat while the Whipping Cream consists of 35% fat.

LAMAR Cooking and Whipping Cream

SIZE 1 Liter

PACK PER CARTON 12 Packs



TYPE

Cooking and Whipping Cream

WITHOUT PALLET

WITH PALLET

1260 CARTONS (6 layers x 18 carton)	



WITHOUT PALLET

40' DC LOAD PER CARTON 20' DC LOAD PER CARTON

4000 CARTONS

3150 CARTONS

LAMAR Cooking and Whipping Cream

size 200 ml **TYPE** Cooking and Whipping Cream PACK PER CARTON 27 Packs



WITHOUT PALLET		WITH PALLET	
40' DC LOAD PER CARTON	20' DC LOAD PER CARTON	40' DC LOAD PER CARTON	20' DC LOAD PER CARTON
4300 CARTONS	3888 CARTONS	4940 CARTONS (13 layers x 19 carton) = 247 carton x 20 pallets	2470 CARTONS (13 layers x 19 carton) = 247 carton x 10 pallets

LAMAR

For more information, please visit: للمزيد من المعلومات، برجاء زيارة:





(i) @lamarfarm

Or you can contact us through: أو إتصل بنا على: 16657 ≤ export@lamaregypt.com